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1. OMUC HABYAJIbHOI JTUCHUILJITHU

Mera MeToro BHMBYEHHS 1HO3€MHOI MOBUM y HEMOBHOMY BY3l €
MIITOTYBaTH CTYJIEHTa JO 4YHWTaHHS JITepaTypu 3a Qaxowm,
CHUIKYBaHHS aHIIIMCHKOIO MOBOIO B PI3HMX BHJAaX MOBHOI
TUSITBHOCT1, MOYKJIMBOCTI 11 BUKOPUCTAHHS y MPAKTUYHUX IIJISX.
KommereutHicTs | KO7 3naTHICTh mpaioBaty y Mi>KHApOAHOMY KOHTEKCTI
K-11 3paTHicTh cHiKyBaTHCS 1HO3EMHOIO MOBOIO.
Pesynprar I1P-11 Bononitu nmepkaBHOIO Ta 1HO3EMHOKO MOBAaMH Ha piBHI,
HABYAHHS JOCTaTHHOMY JUTsl 3A1HCHEHHS TPOQeCiiHOT AISTBHOCTI

I1P-14 [IposiBisiT TOBary A0 1HIUBIAYaJIBHOTO Ta KYJIBTYPHOTO
PI3HOMAHITTS
[TP-16 JMlisTH y BiAMOBIAHOCTI O MPHUHIIUIIIB COIIATBHOI BiIMOBIAATLHOCTI

Ta rPOMAJICHKOI CB1JOMOCTI

ba3oBi 3HaHHS

1. MeTta BUBUEHHS, 3MICT AUCIIHAILIIHU.

2. 3manHs  ocoOmmBocTel  (DOHETHYHOI, TpPaMaTUYHOI,
MOP(OJIOT1YHOT, CHHTAKCUYHOI CTPYKTYPH aHIIIIChKOT MOBH.

3. 3HaHHS BIAMOBIJHOI CHEIIAIBHOL JEKCUKH 33 (haxoM.

ba3oBi BMiHHA

1. UYwratn, mnepexiagatd Ta pedepyBaTH  OpPUTIHAIbHY
JiTeparypy 3a paxoM Juisi OTpUMaHHs HeoOX11HOT iH(hopMallii.

2. bparu yyacTh B yCHOMY CHUIKYBAaHHI 1HO3EMHOIO MOBOIO B
obcsry Marepiaiy, nepeadadeHoro mporpamoro.

ba3oBi HaBUYKH

1. MOXIUBOCTh BUKOPUCTAHHS aHTJIIHCHKOT MOBH Y TTPAKTHYHHUX
JTSX.

2. CminkyBaHHS aHTJIIHCBKOI0 MOBOKO B PI3HHMX BHIAX MOBHOI
JUSUIBHOCTI.

[ToB’s13aHi
cuiadycu

«AHTTifickka MOBa (paxoBOTO CIIPSIMyBaHHS» 2 p.H., 4 P.H.

[Tonepenns
JUCIUILIIHA

Hacrynna
IUCIUIIIIHA

KinekicTs rogua

JIEKIIIi:

npaktuyHi 3aHATTa: 30 y 5 cemectpi; 30 y 6 cemectpi
1abopaTOPHI 3aHATTA:

CEMIHAPCHKI 3aHATTS:

camocriiiHa po6ota ctyaeHtiB: 30 y 5 cemectpi; 30 y 6 cemectpi




5 cemectp

2. MIPOT'PAMA HABYAJIbHOI JUCHUILITHU

2.2. [IpakTu4Hi MOAYJIl 5 cemecTpy

KinekicTs rogua

Kon HaszBa moayns ta Tem ayuropri | CPC
3M- 14,5
111 | 1. a) Environment problems, Radioactivity. 3 145 |3
b) Ukraine have to switch to the renewable sources | 3 3
of energy, Climate change and global warming.
c) What climate changes are affecting Ukraine?, | 3 3
Measures to overcome environmental disasters in
the Carpathians.
d) Grammar: Perfect Continuous 2,5 2,5
e) lomairHe yntanHs (mepexian TEKCTy 3a Gpaxom Ta | 2 2

MepeKyIaa CyCHiabHO-TIOTITHIHOTO TEKCTY)

2. MonynbpHa KOHTposbHa poboTta Ne 1 1 1

3M- 15 14,5

[12 | 1.a) Protection of environment.

b) Environmental protection in Great Britain.

¢) Seven ways to protect the tnvironment.

d) Grammar: Sequence of Tenses, Indirect
Speech

e) JlomamHe yntanus (mepexian TeKCcTy 3a gaxom ta | 2 2
nepeKyaja CyCriabHO-TIOTITHYHOTO TEKCTY)

W W W W
N W W W

2. MonynbsHa KOHTpoabHA poboTa Ne 2 1 1

CemecTpoBa 3aJlikoBa KOHTPOJIbHA poOOTa 0,5 1

Pazowm: 30 30

Kouncynpbrarmii:




ben Onbra OneriBHa, noneAuiok 14.30, ayautopis 607 (HJIK Ne2)

2.3. CamocrTiiiHa po6oTa CTyJIeHTa Ta KOHTPOJIbHI 3aX0/IU Y 5 ceMecTpi

Kon ) KuipkicTs Crpok
3aBnanHs Ha CPC Ta KOHTpPOJBHI 3aX011
MOZYJISA TOJIMH | IPOBEIECHHS
3M-II1| e IligroToBKa 1O YCHOTO OMUTYBAHHS, 14,5 1-7
MIArOTOBKA rpaMaTUYHOI TEMHU Ta M1ArOTOBKA TYKIEHb

JOMAIIHbOI'O0 YUTAHHS

e [liaroTOBKa 10 BUKOHAHHS MOJYJIBHOI
KOHTPOJIbHOT poboTu Ne 1

Konmponwni 3axoou:

e YCHE ONIUTYBaHHs

o [lepeBipka MMCbMOBO BUKOHAHUX CITUCKIB
HE3HAaMOMUX CIIIB Ta iX MepeKya sl YCHOro
nepexiaay TEKCTIB

o [lepeBipka NMCbMOBO BUKOHAHHUX
rpaMaTUYHUX BIIpaB

e MonynpHa KOHTpOJbHA poboTa Ne 1
(000B’s13K0OBE)

3M-I12| e IligroToBKa 10 YCHOTO OMUTYBAaHHS, 14,5 8—15
1JIFCOTOBKA rpaMaTUYHOI TEMHU Ta MiArOTOBKA THXKJIEHb
JOMAIIIHBOTO YATAHHSA

* [ligroToBKa 70 BUKOHAHHS MOYJIBHOL
KOHTPOJILHOT poOoTH Ne 2

Koumponwni 3axoou:

e YCHe OnUTyBaHHS

o [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAMOMHUX CIIIB Ta IX MepeKIIaj A yCHOTO
nepeKyaay TEKCTIB

o [lepeBipka NMCbMOBO BUKOHAHHUX
rpaMaTUYHUX BIIPaB

e MopynibHa KOHTpOJIbHA poOoTa Ne 2

(000B’s13K0OBE)

[TinroToBKa /10 3aJ1iKOBOT KOHTPOJIBHOT pOOOTH 1 15 TmxneHs
Konmponwvni 3axoou:
« 3amikoBa KOHTPOJIbHA poOOTa

Pazowm: 30




1. MeTomka npoBEeAEHHS Ta OIIHIOBAHHI KOHTPOJIBHOTrO0 3axoay it 3M-I11.

MiHiManbHUM 00cAaT 0a30BUX 3HAHD, 1110 HEOOX1AHMI IS 3acCBOECHHS 3M —
I11:

- YWTaTH, NEpeKiaJaTh Ta TepekasyBaTh Tekctu “Environment problems,
Radioactivity”, *“ Ukraine have to switch to the renewable sources of energy,
Climate change and global warming”, “What climate changes are affecting
Ukraine?, Measures to overcome environmental disasters in the
Carpathians™ ;

— mnoscuutH BxkuBaHHA Perfect Continuous Tenses;

— HaBuuTHCcs yrBoproBaTH Perfect Continuous Tenses;

— TEepeKJIaCTH TEKCT 3a (axoM 3 aHTI1HCHKOI Ha YKPAiHCbKY MOBY;

— MEpEeKIJIaCTU CyCHIIbHO-MOMITUYHUMA TEKCT 3 aHTJIIHCHKOI Ha YKPAaiHChKY
MOBY.

MakcumaiibHa cyma 6aitiB 3a 000B’s13K0B1 3ax011 KOHTpoJito 3 3M-II1 — 50 Ganis:

1 3aBganusa — 24 Gana:

JluB. Tabm. 2.2

a) 4 (1+1+1+1)
| — uMTaHHS TEKCTY aHIIIHACHKOIO MOBOIO
1 — cnucok He3HAOMUX CIIIB Ta 1X NEepeKIa
1 — ycHul nepexnan TEKCTy
1 — mepekas TekcTy

b) 4 (1+1+1+1)
1 — ynTaHHA TCKCTY AHTIHCHKOK MOBOIO
] — crMcoK HE3HAWOMMX CJIIB Ta 1X nepexkiIan
1 — ycHMi1 iepeknaj TEKCTY
1 — mepekas Tekcry

c) 4 (1+1+1+1)
| — yuTaHHS TEKCTY aHTJIIHCHKOIO MOBOIO
1 — cnucok HEe3HANOMUX CIIIB Ta 1X NEpeKIa
1 — ycHul nepeknan TEKCTy
1 — mepekas TekcTy



d) 4 (1+1+1+1)
1 — nucemoBuii koHcnekT npasuil npo Perfect Continuous Tenses
1 — nucpMOBO BUKOHaHHI rpamatuyHi Brpasu 1o The Present Perfect Continuous

Tense
1 - nmuceMOBO BUKOHaHHI rpamatuyHi BropasBu 1o The Past Perfect Continuous
Tense
1 - mucekMOBO BUKOHaHHI rpamartuuHi BrnpaBu mo The Future Perfect Continuous
Tense
e) 8(4+4)

4 (1+1+1+1) mnepexnan Tekcry 3a paxom

1 — criMCcOK HE3HAMOMUX CIIIB Ta 1X NEPeKIa]
1 — ycHuli mepekiiag TEKCTy

| — mMcbMOBO BUKOHAHHE Summary

1 — ycne Summary

4 (1+1+1+1) mnepexnaa CyCcriIbHO-TIOJITUYHOTO TEKCTY
1 — cnucok HE3HaOMUX CIIIB Ta iX MepeKsaja
1 — ycHuli nepekiiag TEKCTy

| — mMcbMOBO BUKOHaHHE Summary
1 — ycne Summary

1 3aBnanHns (24 6ana) HE € 00OB’SI3KOBUM.

2 3aBmanag— 50 Gamis:

Buxkonanasg MKP Ne 1

MoaynbHa KOHTpOJIbHA poOoTa ckiagaeThes 3 30 3aBaanb. Koxkne 3aBnanus 1,67
OamB. MojaylibHa KOHTPOJIbHA pOOOTA BBAKAETHCSA 3apaxOBaHOIO, SIKIIO HAaJIaHO
MiHIMYM 18 MpaBWIBHUX BIIOBIICH.

Sxmo 3axoau 0OOB’SI3KOBUX ()OPM KOHTPOJIO BHUKOHYIOTHCS CTYACHTOM
HiCJsl CTPOKIB, BU3HAYEHHUX Y IIPOrpaMi HaBYAJIbHOI IUCLUUIUIIHHU, KIJIBKICTh OaiB,
10 MOXKE€ OTPUMATH CTYACHT, HE MOXke nepeBuiyBaTH 60% Bl MaKCUMalIbHO
MO>KJIMBOT JIs 1i€i GOpMH KOHTPOJIIO.

Oninka 3a okpemi (abo yci) MOAYJIl 3HUKY€ETbCS y pa3l MPOIYCKIB 3aHAITh
CTYyJICHTOM. 3a KOXHE MPOIYyIIEHEe 3aHATTA 3HIKYeThes 0,5 Oana, ajie MiHIMaabHa
OI[IHKA TICTIsl 3HKEHHS He MOoxke OyTu Huxk4a 60% BiJ MaKCUMaJIbHO MO>KJIUBOI.
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2 3aBaadHAg (50 6axiB) € 000B’ I3KOBUM.

2. Meroarka npOBEJECHHS Ta OIHIOBAHHSI KOHTPOJBLHOTO 3axoay Juist 3IM-T12.

MiHiManbHUM 00cAT 0a30BUX 3HAHD, 1110 HEOOX1AHMI IS 3aCBOECHHS 3M —
I12:

- YWTaTH, NEPeKJIagaTH Ta epekazyBaTu TeMu “Protection of environment”,
“Environmental protection in Great Britain”, “Seven ways to protect the
tnvironment”’;

— mosicHUTH BxkuBaHHs Sequence of Tenses;
— HaBuuTHCs yTBOproBatH Indirect Speech;
— TepeKJIacTH TeKCT 3a (haxoM 3 aHIIIIHCHKOT Ha YKPaiHChKY MOBY;

= MEPEKIACTH CYCIUTbHO-TIONITUYHUHN TEKCT 3 aHIIIChKOT HA YKPATHCHKY
MOBY.

MaxkcumanbHa cyma 0aiiB 3a 000B’s13k0B1 3ax0au KOHTpouo 3 3M—I12— 50 GaitiB:

1 3aBaadusa — 24 Gana:

JuB. Tabn. 2.2

a) 4 (1+1+1+1)
1 — 4uTaHHS TEKCTY aHTI1HCHKOIO MOBOIO
| — cnucok He3HAWOMUX CIIIB Ta 1X MepeKyal
1 — ycHuli nepekiaa TeKCTy
1 — mepekas TekcTy

b) 4 (1+1+1+1)
] — 4uTaHHS TEKCTY aHIIIHCHKOIO MOBOIO
1 — criMCcOK HE3HAMOMUX CIIIB Ta 1X MEPeKIa
1 — ycHuli nepeknan TEKCTy
1 — mepekas TekcTy

c) 4 (1+1+1+1)
| — 4uTaHHS TEKCTY aHTI1HCHKOI0 MOBOIO
1 — cnucok He3HaWOMUX CIIIB Ta iX mepeKsaa
1 — ycHuli nepekiaa TeKCTy
1 — mepekas TekcTy

d) 4 (1+1+1+1)
1 — nuceMoBuii KOHCIIEKT paBuil o Sequence of Tenses
1 — mMcpMOBO BUKOHAHHI I'paMaThyHi Bipasu no Sequence of Tenses
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1 - mucebmoBHii KoHCTIEKT TpaBui o Indirect Speech
1 - mucbMOBO BUKOHAaHHI rpamMaTtuyHi Bipasu 1o Indirect Speech

e) 8 (4+4)

4 (1+1+1+1) mnepexnaa TekcTy 3a paxom
1 — cnucok He3HaWOMUX CIIIB Ta iX MepeKsaa
1 — ycHuli nepeknan TEKCTy
| — mMcbMOBO BUKOHaHHE Summary
1 — ycae Summary

4 (1+1+1+1) nepeknan cycniabHO-MOTITUYHOIO TEKCTY
1 — criMcoK HE3HAMOMUX CIIIB Ta 1X MEePeKIa]
1 — ycHuli mepekiiag TeKCTy
| — mMCbMOBO BUKOHAHHE Summary

1 — ycHe Summary

1 3aBnanHs (24 6ana) He € 00OB’SI3KOBUM.

2 3aBnanas— 50 OauiB:

Buxkonanasgs MKP Ne 2

MopaynpHa KOHTpOJbHA poboTa ckiagaeTses 3 30 3aBaanb. Koxue 3aBaanus 1,67
OoaiB. MojylibHa KOHTPOJIbHA POOOTA BBAXKAETHCSA 3aPaXOBAHOIO, SIKIO HAJIaHO
MIHIMYM |8 mpaBUIBHUX BIANOBIACH.

Ao 3axoau 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
Hicisl CTPOKIB, BU3HAYEHHUX Y IIPOrpaMi HaBYAJIbHOI IUCHUIUIIHU, KIJIBKICTh OaliB,
10 MOXXE€ OTPUMAaTH CTYAEHT, HE MOXe nepeBuiyBaTd 60% Big MakCUMalbHO
MOXKJIMBOT JUTS 11i€T (HOPMU KOHTPOJTIO.

Ominka 3a okpemi (abo yci) MOAYJi 3HUKYETbCS y pa3i MPOIYCKIB 3aHAITh
CTYJICHTOM. 3a KOKHE TPOIyIIeHe 3aHATTS 3HUKyeThbes 0,5 Oana, ane miHiMaabHa

OITiHKA TIICJIS 3HMDKCHHS HEe MOXKe OyTu HukYa 60% BiJ MAaKCUMAJIbHO MOYKJIUBOI.

2 3aBaadHAg (50 0amiB) € 000B’ I3KOBUM.

4. MeToauka IpoBEeACHHS Ta OLIiHIOBaHHH CEMCECTPOBOI'0 KOHTPOJIBHOI'O 3aX04Y.




3ajikoBa ceMecTpoBa KOHTpoOJibHA pobOoTa ckianaerbes 3 20 3aBmanHb. Koxne
3aBAaHHA 5 OaiiB. 3aJiKoBa KOHTPOJIbHA poOOTa BBAXKAETHCS 3aPaXOBAHOIO, SKIIIO
HaJaHo MiHIMYM 10 npaBWIBHUX B1ANOBIJIEH.

KoHTponb MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMWYIYBaIbHOI CHCTEMHU
oprasi3aliii HaB4aHHs.

®daktnyHa cyma OamiB, SIKy OTPUMY€E CTYJIEHT 3a IE€BHHM 3MICTOBHUMN
MOJYJIb, MAa€ CKJIAJIaTUCA 13 pe3yJIbTaTiB BUKOHAHHS 3aXOJliB 3 KOHTPOJIO, IO
3aljlaHOBaHl 3a LHUM 3MICTOBHUM MOJyJE€M, Ta YpaxoBYBaTH CBO€YACHICThb
(HampuKiIaa: CTYAEHT, SKUA TPOIYCTHUB KOHTPOJBHUN 3axiJi 0e3 MOBaKHUX
npuduH a00 OTPUMMAaB HE3aJIOBUIBHY OIIIHKY, Ma€ MpaBO y TIKHEBHN TEpMiH
BUKOHATH 3aBJIaHHS [IOTO 3aX0/y 3 MAKCUMAJIBHOIO CYMOIO 0ajliB, €KBIBAJIEGHTHOIO
OLIHII He OulblIiid HDK "3a40BUIBHO")  BUKOHAHHSA CTYAEHTOM TIpadiky
HABYAJILHOTO MPOIIECY.

Cymu OaniB, sIKI OTpUMaB CTYJEHT 3a BCIMa 3MICTOBHUMHU MOJYJISIMA HaB-
YaJlbHOI JUCHUIUIIHK, (QOPMYIOTH KUIBKICHY OIIHKY (0ajn ycCHimHOCTI) 3a
MiCYMKaMH TOTOYHUX KOHTPOJIOIOUUX 3aXOIB CTyJEHTa 3 HaBYaJIbHOI
JUCHMIUTIHU. Pe3yiapTaTh TOTOYHOTO KOHTPOJIO 3aHOCATHCSA IO IHTErpaibHOI
BifloMocTi. PilmeHHs mpo JOMycK CTyJeHTa A0 TMiJCYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIbHOI JUCHUIUIIH periiaMeHTyeThest [lonoxeHHs M
PO MPOBEACHHS M1ICYMKOBOT'O KOHTPOJIIO 3HAaHb CTY/CHTIB.

CTyZeHT BBaXA€ThCS JAOMYIIEHUM [0 MiJCYMKOBOIO CEMECTPOBOIO
KOHTPOJTIO, SIKIIIO BiH BUKOHAB BC1 BUIM POOIT, iepeadaueHi poO0v0r0 HaBYAILHOIO
IPOrpaMor0 TUCIUILIIHY 1 HaOpaB 32 MOJYJILHOIO CUCTEMOIO CyMy 0alliB HE MEHIIIe
50 (50%) Big MakcMManbHO MOXJIMBOI (000B’si3koBa yactuHa 100 OamiB) 3a
NPAaKTHYHY YaCTHHY.

[1i1cyMKOBUM KOHTPOJIEM 3HaHb CTYJICHTIB € 3aJIiK.

CryaeHT oTpuUMYy€ 3ajiK, KOJM BIH Ma€ Ha OCTaHHIA JI€Hb CEMECTpY
IHTErpajgbHy CyMmy OajiB MOTOYHOIO KOHTPOIIO, JocTaTtHiO (60% Ta Olnblue) s
OTpUMaHHS MO3UTUBHOI OL[IHKU Ta He MeHIIe S0% Bix MAaKCHMAJIbHO MOKJIHBOI
cyMHu 0aJjiiB Ha 3aJ1iKOBiil KOHTPOJILHIN po0OTi.

[aTerpanpHa ominka (B) mo quciuriizi po3paxoByeThes 3a HOPMYIIOI0

B =0,75x 03+ 0,25 x O3KP,

ne O3 — kinbkicHa oIfiHKa (y BIJCOTKAaX BIJ MaKCUMallbHO MOKJIMBOi) 3a
3MICTOBHUMU MOAYJISIMU;
O3KP — xinbkicHa omiHKa (y BIJICOTKax BiJ] MaKCHUMalbHO MOKJIMBOI)

3aJ11IKOBOi KOHTPOJIBHOI POOOTH.

3. PEKOMEHJIAIII 10 CAMOCTIMHOI POBOTH CTY/IEHTIB
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3.1. Mooyne 3M-II1 “Environment problems, Radioactivity”, * Ukraine
have to switch to the renewable sources of energy, Climate change and global
warming”, “What climate changes are affecting Ukraine?, Measures to overcome
environmental disasters in the Carpathians”, Perfect Continuous Tenses.

Jlitepatypa: [1,c.4—-7,¢. 17 -21], [2, c. 30 — 63]

3.1.1. [loBuanusa

a) “ Environment problems, Radioactivity

. [IpounTaT TEKCT aHTIIICHKOIO MOBOIO.

. BunicaTu 3 TeKcTy HOBI cllIoBa Ta 3p0OUTH iX NEpEKIal.

. YCHO mepeKIacTi TEKCT 3 aHTJIIACHhKOI Ha YKPaiHChbKY MOBY.
. Ilepexasatu Tekcr.

AW —

b) “ Ukraine have to switch to the renewable sources of energy, Climate
change and global warming .

. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.

. BunrcaTu 3 TeKkcTy HOBI clloBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIHCHKOI Ha YKPaiHCbKY MOBY.
. [lepekazatu TekcCT.

AW N —

c) “ What climate changes are affecting Ukraine?, Measures to overcome
environmental disasters in the Carpathians ”

. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.

. BunrcaTu 3 TeKcTy HOBI clloBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO TmepeKIIacTi TEKCT 3 aHTUIMChKOI Ha YKPATHChKY MOBY.
. [lepekaszatu TEKCT.

AW —

d) Grammar:
Perfect Continuous Tenses.

1. 3poOUTH KOHCIIEKT MTpaBUJ YTBOPEHHS Ta BXKUBAHHS.
2. BukoHaTu TpeHyBaJlbHI IPaMaTH4HI BIPABH.

e) Homaiine yntanus
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DN B~ W -

3.

1. mepekiaa TEKCTy 3a paxom:

. CamocTiifHO BUOpaTH TEKCT HAYKOBOI CTATTI 3 HAYKOBOIO KypHaJly 3a (haxom Ha
anrmicekiit MoBi ( 12 500 np.3HaKiB)

. BunicaTu 3 TekcTy HOBI clloBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO TepeKIIacTi TEKCT 3 aHTUIMChKOI Ha YKPATHChKY MOBY.

2. mepekJiaj] CyCrniIbHO-TIONITUYHOTO TEKCTY:

. CamocrTiifHO BUOpaTH TEKCT 3 aHTJIOMOBHOT razeTH ( 5 000 mp.3HaKiB)
. Buniucartu 3 TekcTy HOBI clloBa Ta 3pOOUTH X MEpeKiIal.

. YCHO MepeKIacTi TEKCT 3 aHTJIIACHKOI Ha YKPaiHCbKY MOBY.

. [lucpmoBe Summary.

. YcHe Summary

3.1.2. IlutanHus 1j1s1 caMOIIepeBipKU

. Has the problem of environment crisis assumed global proportions?

What is the main cause of ecological disasters?

. Can you enumerate planet-wide ecological problems?

. What illnesses can be caused by released radioactive materials?

Does the state need to encourage the development of alternative power
generation?

What is the difference between climate and weather?

What is the greenhouse effect caused by?

Can you have felt climate changes in the past few years?

. What functions do the forests of the Carpathians perform?

O Why do we need to introduce new environmentally friendly logging
technologies?

2. Mooyne 3M-II2 “Protection of environment”, “Environmental protection
in Great Britain”, “Seven ways to protect the tnvironment”, Sequence of
Tenses, Indirect Speech.

Jlitepatypa: [1, c. 28 - 30], [2, ¢. 90 — 109]
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3.2.1. IloBuanus

a) “Protection of environment”.

1. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.
2. BunucaTu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH X MEpeKyal.
3. YCHO nepekacTu TEKCT 3 aHTIINCHKOT Ha YKPaiHChKY MOBY.

b) “Environmental protection in Great Britain”.

1. [IpounTaTé TEKCT aHTIIIMCHKOIO MOBOIO.
2. Bunucatu 3 TEKCTY HOBI CJI0Ba Ta 3pOOUTH 1X TEPEKIAI.
3. YCHO nepeKs1acT TEKCT 3 aHIJIHCHKOI Ha YKPaiHChbKY MOBY.

¢) “Seven ways to protect the tnvironment”.

1. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.
2. BunucaTu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH X MepeKia.
3. YcHo mepekiacTu TeKCT 3 aHTJIHCHKOT Ha YKPaiHChKY MOBY.

d) Grammar:
Sequence of Tenses.

1. 3pobuTn KoHCHEKT paBui BxkUBaHHA Sequence of Tenses.
2. BukoHaTu TpeHyBaJibHI IpPaMaTH4HI BIPABHU.

Indirect Speech.

1. 3pobutn koHCHIEeKT Mo yTBopeHHIo Indirect Speech.
2. BukoHaTu TpeHyBaJIbHI I'paMaTHYHI BIPABH.
e) JloMaiiHe ynTaHHs
1. mepeknag TEKCTy 3a haxom:
1. CaMocCTiitHO BUOpaTH TEKCT HAYKOBOI CTATTI 3 HAYKOBOTO XKypHaIy 3a (axoM Ha
anrmicekiit MoBi ( 12 500 np.3HaKiB)

2. BunucaTu 3 TEKCTy HOBI CJI0OBa Ta 3pOOUTH 1X TIEPEKIIa.
3. YCcHO nepeKIacT TeKCT 3 aHTJIHCHKOI Ha YKPaiHChbKY MOBY.
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2. nepekyiaj] CyCrnuIbHO-IIOJITUYHOTO TEKCTY:

1. CamocTiiiHO BUOpaTH TEKCT 3 aHrJIoMOBHOI razetu (5 000 ap.3HaKiB)
2. Bunucatu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X TIEPEKIIaI.

3. YCHO nepeKIacTi TEKCT 3 aHTINChKOT Ha YKPaiHChKY MOBY.

4. IluckMoBe Summary.

5. Ycue Summary

3.2.2. [lutaHHs 17151 caMOTIePEBIPKU

What is one of the most harmful consequences of air pollution?

How does economy influence the state of our environment?

What is the total area of national parks in Great Britain?

Must campaign for environmental protection be supported by authorities only?
Which of your habits help saving the environment?

SNk W=

4. IMTAHHA 10 3AXOAIB IIOTOYHOI'O, HIICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamatuyHi 3aBJaHHs 10 MOAYJIHOI KOHTPOJIBHOI podoTu Moayns 3M-IT1.

Module control work Ne 1

Open the brackets putting the verbs into the right forms:

1. Please, come at 8. By that time, I (to finish) my homework and we can go out. [3,
c. 61- 73]

2. The children are in the yard. They (to play) hide-and-seek since breakfast
time. [3, c. 61- 73]

3. By the time he found his girlfriend, he (to look) for her in the mall for an hour.
[3,c.61-73]
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4. They (to play) computer games for a long time before their mother came and
turned off the computer. [3, c. 61- 73]

5. By the time you arrive I (to cook) something spectacular and dinner will be on
the table waiting for you. [3, c. 61- 73]

6. Barbara (to do) her make-up for half an hour but (not to finish) it yet. [3, c. 61-
73]

7. She is a well-known artist. She (to draw) since her childhood. [3, c. 61- 73]

8. When we arrive in Los Angeles we'll need to rest, because we (to drive) about
800 miles. [3, c. 61- 73]

9. I (to translate) this story since morning, but still can't understand some
sentences. [3, c. 61- 73]

10. I finally reached my mom. I (to call) her all day. 3, c. 61- 73]
11. When you get off the train, we (to wait) for you on the platform. [3, c. 61- 73]

12. T have just heard about the accident. The driver (to work) all night? [3, c. 61-
73]

13. We (to catch) the first train next Monday. [3, ¢. 61- 73]

14. When I travel to England next year I (to study) English for over four years, so
I think I'll be ready. [3, c. 61- 73]

15. I'm tired because 1 (to work) out. [3, c. 61- 73]
16. Julie (to live) in Italy since May. [3, c. 61- 73]

17. Do you know he's been teaching German (before, since, for) fifteen years? [3,
c. 61- 73]

18, We have been watching TV (by, since, for) we had dinner. [3, c. 61- 73]
19. it (to rain) since you arrived? [3, c. 61- 73]
20. My brother has been travelling (by, since, for) two months. [3, c. 61- 73]

21. Tom (to eat) breakfast this morning because he didn't have any time. [3, c.
61- 73]

22. Rick (to study) hard this semester. [3, c. 61- 73]
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23. Did you know he's been teaching German (before, since, for) fifteen years? [3,
c. 61- 73]

24. We have been watching TV (by, since, for) we had dinner. [3, c. 61- 73]

25. By 2023 Matt (to study) medicine for 5 years. [3, c. 61- 73]

27. Nice to meet you. I (not to see) you for a long time. [3, c. 61- 73]

28. Tomorrow is Yulia's birthday. So by tomorrow dinner her mom (to cook) the
whole afternoon. [3, c. 61- 73]

29. Is Tom still ill? No. He just (to recover). [3, c. 61- 73]

30. Greg didn't want to be late for the theatre. He drove as fast as he could. The
play just (to begin) as he walked in the door of the theatre. [3, c. 61- 73]

31. The party will start at 8§ pm, so by midnight we (to dance) for 4 hours. [3, c.
61- 73]

32. I (to translate) this story since morning, but still can't understand some
sentences. [3, c. 61- 73]

33. Her face was stained with tears and her eyes were red. She (to cry). [3, c. 61-
73]

34. By this time tomorrow Jamie (to sleep) for more than 12 hours. [3, c. 61- 73]

35. Dinosaurs were the largest animals ever to live on earth, and they (to rule) the
Earth for a very long period of time. [3, c. 61- 73]

36. Hurry up, by the time we arrive at the cinema, the film already (to start). [3, c.
61- 73]

37. The trouble started when Mrs. Leslie Cady (to lose) control of her car on a
narrow mountain road. [3, c. 61- 73]

38. Maria is going to visit us at 10 pm this evening. the children (to go) to bed
when she arrives? [3, c. 61- 73]

39. Robert didn't answer the phone when Mary called. He (to take) a shower and
didn't hear the phone ring. [3, ¢. 61- 73]
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40. By the end of our holidays we (to spend) all our money. [3, c. 61- 73]

41. It wasn't raining when I looked out of the window; the sun was shining. But
it (to rain) earlier. That's why the ground was wet. [3, c. 61- 73]

42. I (to wait) for your parents at the airport when they arrive? [3, c. 61- 73]
43. Suddenly they heard a strange noise and (to look) at each other in horror. [3,
c. 61- 73]

44. Unfortunately I (to resd) all these books by the exam time. [3, c. 61- 73]

45. I looked everywhere for my car keys and then I remembered that my son (to
take) the car to work. [3, c. 61- 73]

46. Before I went to bed I decided to check the front door. I was sure my
sister (not to lock) it. And I was right!

47. Rescue workers (to pull) a man, a woman, and two children from cold rushing
water. [3, c. 61- 73]

48. Everybody was laughing merrily while Harris (to tell) them a funny story. [3,
c. 61- 73]

49. By 2021 Angelina (to live) in the USA long enough to participate in the
elections. [3, c. 61- 73]

50. We (to watch) TV for ten minutes when the electricity went off. [3, ¢. 61- 73]

50. Nadia will be very tired tomorrow. By that time she (to drive) for 7 hours. |3,
c. 61- 73]

51. It wasn't raining when I left my office in the evening, but the ground was wet.
It (to rain) all day. [3, c. 61- 73]

52. He had barely entered the room when his secretary said: “Somebody
(ring) for you for the last five minutes.” [3, c. 61- 73]

53. | (read) Shakespeare in your absence and now | (try) to learn this
beautiful sonnet. [3, c. 61- 73]

54. “Florence, dear, | (look) for you everywhere.” - “What's happened?” -
“Mr Cusak (wait) for you in the house.” [3, c. 61- 73]

55. “You (come) out at last,” he said. “Well, | (stand) here long, and (listen)
to the nightingale.” [3, c. 61- 73]
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56. I really don’t know what you (do) there all this time. [3, ¢. 61- 73]

57. 1 (not/hear) about him since yesterday. [3, ¢. 61- 73]

58. He (not/say) a single word to me yet and he (get) that letter on Sunday. [3, c.
61- 73]

59. When I (get) home that evening, my little son (eat) dinner himself for the first
time. [3, c. 61- 73]

60. She (sit) at the table only five minutes when a car (come). [3, c. 61- 73]

4.2. I'pamaTryHi 3aBIaHHS 10 MOJIYJIBHOI KOHTPOJIBHOI po00TH Moyt 3M-I12.

Module control work Ne 2

Open the brackets putting the verbs into the right forms:

. The pupil explained to the teacher that he couldn't come to school that day because

he (to be)ill. [3, c. 92- 98]

She asked me about my schedule for the next week and I answered that I (to
know) it yet. [3, c. 92- 98]

. Did you say you (to have to) get up very early the following morning? [3, c. 92-

98]

Ann begged me not to tell her father what (to happen) earlier that day. [3, c. 92-
98]

. Cecily answered she (to write) stories and poems all her life since as long as she

could rememeber. [3, c. 92- 98]

The woman standing near the box-office inquired if I knew how much the tickets
(to be). [3,c. 92- 98]
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7. Seeing that [ was nervous, Sue advised me (to wait) for the answer till the
following day. [3, c. 92- 98]

8. I thought you said Jack you (to phone) when he got back from his trip to the
mountains. [3, c. 92- 98]

9. They explained to us that the Local History museum, which was usually open
every Sunday, that day (to close). [3, c. 92- 98]

10. Wanda complained to me that the children (to be) very naughty that evening. [3,
c. 92- 98]

Put the sentences into the Indirect Speech:

11. He said, "I like this song." [3, c. 99- 108]
He said

12. "Where is your sister?" she asked me. [3, ¢. 99- 108]
She asked me

13. "I don't speak Italian," she said. [3, c. 99- 108]
She said

14. "Say hello to Jim," they said. [3, c. 99- 108]
They asked me

15. "The film began at seven o'clock," he said. [3, c. 99- 108]
He said

16. "Don't play on the grass, boys," she said.
She told the boys

17. "Where have you spent your money?" she asked him. [3, ¢. 99- 108]
She asked him

18. "I never make mistakes," he said. [3, c. 99- 108]
He said
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19. "Does she know Robert?" he wanted to know. [3, c. 99- 108]
He wanted to know

20. "Don't try this at home," the stuntman told the audience. [3, c. 99- 108]
The stuntman advised the audience

21. Christine asked if I (to post) her letter. [3, c. 92- 98]
22. She asked me when I (to have) to go to work. [3, c. 92- 98]

23. She said it was a stupid idea and it (not to work). [3, c. 92- 98]
24. He told me he never (to be)to France. [3, c. 92- 98]

25. He said that he (to go) to Oxford University in the 90s. [3, c. 92- 98]

26. She said she (can) help me because she had too much to do. [3, c. 92- 98]

27. I thought the play (to be) interesting and decided to go to the theatre. [3, c. 92-
98]

28. Katarina said she (to go) to Brussels soon. [3, ¢c. 92- 98]

29. He said that he (to go) to the theatre the day before. [3, c. 92- 98]
30.They told me that she (to be) there in ten minutes. [3, ¢. 92- 98]

Make Indirect Speech in the following sentences:

31. Tim said, 'I'm sorry to disturb you, Betty. [3, c. 99- 108]
32. He said, 'Where is Jane going?' [3, c. 99- 108]
33. Polly said, 'T would like to buy it'. [3, c. 99- 108]

?géﬁf I had any instructions, I would know what to do', said Margaret. [3, c. 99-

35. Robert asked, "Tom, do you know the Old Barn Hotel? It's on the Carl Road'.
[3, c. 99- 108]

36. 'Will you be free tomorrow?' Peter asked Dick. [3, c. 99- 108]
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37. 'Don't open the door or answer the phone,' said her parents. [3, c. 99- 108]

38. The last two weeks she had been saying to everyone who phoned her that she
(to be) unwell and (not to leave) home. [3, c. 92- 98]

39. When I knew him better he admitted that he (to feel) lonely in London. [3, c.
92- 98]

40. She wanted Wilfred to forbid my walking in the park alone. She said it (to be)
dangerous. [3, c. 92- 98]

41. “Don’t shoot except in self-defence,” said the police sergeant. [3, c. 99- 108]

42. “Sit down and tell me what is worrying you,” he said to her. [3, c. 99- 108]

43. “If you have to use the river water,” said the guide to us, “boil it first. Don’t
drink it unboiled.” [3, c. 99- 108]

44. “Will the passengers with nothing to declare go through the green door?” said a
customs official. [3, c. 99- 108]

45. “How did you get up that tree?” Mary asked. “I used a ladder, but someone
went off with it when I was sawing.” said Jimmy. “Go and get another one and
don’t just stand there and ask silly questions. [3, c. 99- 108]

46. She ended by saying that she (to think) she (to make) a mistake. [3, c. 92- 98]

47. She knew what (to go) on in their minds. [3, c. 92- 98]

48. So I went into the living room, where my aunt already (to wait) for me. [3, c.
92- 98]

49. She telephoned her husband to the office to say that her brother (to return) from
abroad. [3, c. 92- 98]

50. An old friend rang up to ask how Elizabeth (to feel), and whether she (can) go

with his wife to the concert on Sunday morning. [3, c. 92- 98]
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51. Most of the trees already (to put) out their leaves and there were buds
everywhere. [3, c. 92- 98]

52. He remembered that he (not to see) Lily for three weeks. [3, ¢. 92- 98]

53. She hadn’t yet figured out what she (to be) going to do and she (to hope) to be
able to wait a little. [3, c. 92- 98]

54. It was possible that Jack (to hang) around. [3, c. 92- 98]

55. Everybody thought they (to live) in happiness for nearly thirty years. [3, c. 92-
98]

56. She didn’t know why she (to invent) suddenly the story. [3, c. 92- 98]

57. Delany (to sit) up in bed and (to eat) his dinner when Jack (to come) into the
room. His complexion (to be) ruddy. Obviously he (to be) shaved. He (to have)
a glass of red wine with his meal. He (to wave) his fork as he (to see) Jack. [3,
c. 92- 98]

58. He (to remain) in his seat, as though studying his programme, till the three (to
pass) out into the foyer. [3, c. 92- 98]

59. Darkness (to fall) when he finally (to return) to the hotel. He (to say) nothing to
Pat except that he (to turn) down the job. He (cannot) give her any explanation
until he completely (to understand) the meaning of what (to happen). [3, c. 92-
98]

60. As we (to drive), her eyes (to stare) rigidly out of the car window. [3, c. 92- 98]

4.3. TecToBi 3aBIaHHS 70 3a71KOBOI KOHTPOJIBHOI pOOOTH.

Credit test

5 term

Open the brackets putting the verbs into the right forms:

22



[S—

. When I travel to England next year I (to study) English for over four years, so |
think I'll be ready. [3, c. 61 — 81, c. 92 — 98, ]

2. I'm sure when you call him, he (to watch) TV. He's always in front of the TV!
[3,c.61 —81, c. 92 -98]

3. We are visiting a new city every week. By the end of the summer, we (to visit)
all the most important cities in Europe. [3, c. 61 — 81, ¢. 92 — 98]

4. In less than 2 years, my grandparents (to be) married for 50 years. We are going
to celebrate it. [3, c. 61 — 81, c. 92 — 98]

5. In less than 2 years, my grandparents (to be) for 50 years. We are going to
celebrate it. [3, c. 61 — 81, ¢. 92 — 98]

6. I'm cleaning the kitchen. By the time you arrive, it (to be) spotless. [3, c. 61 —
81,c. 92 —98]

7. We were shocked to see her. We (to be) expecting her. [3, c. 61 — 81, ¢. 92 — 98]

oo

. Ben (to do) his homework all this time. He (to play) computer games. [3, c. 61 —
81, c. 92 —98]

9. It has (to snow) a lot this week. [3, c. 61 - 81 ¢. 92 — 98]

10. When Bob arrived at the station, his friends (to wait) already for him for half
an hour. [3,c. 61 - 81 ¢c. 92 —98,]

11. How long you (to live) in Poltava before you moved to Odesa? [3, c. 61 - 81 c.
92 — 98]

12. Mr. Clemence said that because of the fire part of the building had gone
completely, and the rest of it (to fall) down. [3, c. 61 - 81 ¢. 92 — 98]

13. The librarian didn't think the students (to take) their books to the library by the
following week yet. [3, c. 61 - 81 c. 92 — 98]

14. The doctor told me to stay in bed for a few days otherwise
complications (could, might, have to) setin. [3, c. 61 - 81 ¢. 92 — 98]

15. Jerry said that by the end of the year he (to live) in his new house for four
years. [3,c. 61 -81c.92—98]
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16. Itold Sarah that Anne worked in a shoe shop, and she (to complain) that she
didn't get enough money for her job. [3, c. 61 - 81 ¢. 92 — 98]

17. Simon was wrong when he said that Andrew (to move) to his new apartment
the next day. [3,c. 61 - 81 c. 92 — 98]

18. She asked me if the flight (to cancel). [3, c. 61 - 81 ¢. 92 — 98]

19. Nobody knew what (to happen) next. [3, c. 61 - 81 c. 92 — 98]

20. He was not happy about our choice and asked who (interview) the applicants
for the new position. [3,c. 61 - 81 c¢. 92 — 98]

21. I knew that she (be unhappy) about the situation, but I also (realize) that if she
(meet) Keith face to face her attitude (change). [3, c. 61 - 81 c. 92 — 98]

22. It wasn't surprising that she (start) getting toothache. She (not go) to the dentist
for two years. [3,c. 61 - 81 c. 92 — 98]

23. She didn't know that water (freeze) at 32° Fahrenheit. [3, c. 61 - 81 c. 92 — 98]

24. They promised that they (bring) us all the necessary books. [3, c. 61 - 81 ¢c. 92
— 98]

Make an Indirect Speech:

25. “My young brother wants to be a tax inspector,” said Mary. “I can’t think why.
None of my family has ever been a tax inspector”. [3, c. 99- 108]

26. The doctor said: “Please take a deep breath, Ann.” [3, c. 99- 108]
27. The teacher told the students: “Don’t talk during the test.” [3, c. 99- 108]

28. “Have you ever been to China, Sam?” I asked. [3, c. 99- 108]

29. “The birds build their nests among the trees,” the teacher said. [3, c. 99- 108]
30. “I can't read these books. I don’t like them,” Petra said. [3, c. 99- 108]

31. “Will you have something to eat?”” she asked. [3, c. 99- 108]

32. “Don’t stay outside after the bell comes.” the teacher said. [3, c. 99- 108]

33. “Buy bread, milk and sugar.” asked our neighbour. [3, c. 99- 108]
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34. “I’'m building myself a house,” said Charles. “I won’t show it to you just yet
but when the roof is on you can come and see it.” [3, ¢. 99- 108]

35. His uncle told “They lived in a camp when they were on holiday.” [3, ¢. 99-
108]

36. She asked, “Have you been working hard on this problem?” [3, ¢. 99- 108]

37. “Shall I have to do the whole exam again if I fail in one paper?” said the
student to the teacher. [3, c. 99- 108]

38. “I have almost done it,” said Peter. “Wait for a minute please.” [3, c. 99- 108]

39. “It doesn't look as if I'll be arriving until after eight, I'm afraid.” Jane said [3, c.
99- 108]

40. “The parcel ought to be here by the end of next week.” Brian said. [3, . 99-
108]

41. He asked me what work I (to do) and whether I (to intend) to go to a university.
[3,c.61-81c.92-98]

Open the brackets putting the verbs into the right forms:

42. 1 was surprised you (to know) my name. [3, c. 61 - 81 ¢. 92 — 98]

43. He told his father that now he (to make) ten dollars a week less. [3, c. 61 - 81 c.
92 — 98]

44. When I went into the office next morning I already (to formulate) my plan. [3,
c. 61 -81c.92—-98]

45. Well, I don’t think I ever (to see) you before. [3, c. 61 - 81 c. 92 — 98]

46. “Why are you looking so depressed, Jack?” I said. “Because I have just asked
Ann to marry me and she has refused,” he said sadly. [3, c. 99- 108]

47. “Tell me now why you will have done this work by Friday? [ want to go with
you to the cinema tomorrow,” said Mary to Jack. [3, c. 99- 108]
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48. “We are waiting for the school bus,” said the children. “It’s late again.” [3, c.
99- 108]

Put the following into direct speech.

49. She asked if he would like to go to the concert and I said that I was sure he
would. [3,c.99-108]

50. She told me to look where I was going as the road was full of holes and badly
lit. [3, c. 99- 108]

51. They said that while they had been bathing they had seen someone had been
examining their clothes. [3, ¢. 99- 108]

52. She said that she was surprised to see that the grandfather’s clock had stopped.
[3, c. 99- 108]

53. He wanted to know if [ was going to the dance and said that we could go
together. [3, c. 61 - 81 ¢. 92 - 98, ¢. 99- 108]

54. He asked the crowd if they thought that he was a liar and the crowd shouted
that they did. [3, c. 61 - 81 ¢. 92 — 98, c. 99- 108]

55. I stopped a man in the street and asked him if he would help me with my car.
[3, c.99- 108]

56. He said that if war broke out he would have to leave the country at once. [3, c.
99- 108]

57. He said that if [ found the front door locked I was to go round to the back. [3,
c. 99- 108]

58. He asked what the weather had been like during my holiday and I said that it
had been awful. [3, c. 99- 108]
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6 cemecTp

2. MIPOT'PAMA HABYAJIbHOI JUCHUILJITHU

2.2. IlpakTiuni Moy 6 cemecTpy

KinpkicTs rogua

Kon Ha3zBa monynst ta Tem .
aygutopHi | CPC
3M- | 1. a) Pollution and its negative effects, Great Pacific | 3 145 |3 14,5
13 garbage patch.
b) Waste accumulated in the waterways of the |3 3
Carpathians can lead to floods and
deterioration of water quality, loss of river
biodiversity, What is ecology.
c¢) Scale and complexity, Ecological niche and 3 3
the habitat.
d) Grammar: Conditionals 2,5 2,5
e) JlomaiiHe yntanHs (IEepeka TEKCTY 3a 2 2
daxoM Ta nepeksaja CyCribHO-TOTITUYHOTO
TEKCTY)
2. MonynbsHa KOHTposbHa poboTa Ne 3 ! !
3M- | 1.a) Ecosystem services and the biodiversity crisis. |3 15 3 14,5
14 b) Trophic dynamics. 3 3
c) Resilience of great barrier reef offers 3 3
opportunities for regeneration.
d) Grammar: The non-verbal forms of the verb 3 2,5
e¢) JlomaiiHe ynTaHHs (MepeKya TEKCTY 3a 2 2
daxom Ta nepeksiaj CyCriJbHO-TTOITHIHOTO
TEKCTY)
2. MoaynpHa KOHTpoJbHA poboTa Ne 4 1 1
CemecTpoBa 3aj1ikoBa KOHTPOJIbHA poOoTa 0,5 1
30 30

Pazowm:
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Koncynpramii:

beu Onbra OneriBHa, noneAunok 14.30, ayautopis 607 (HJIK Ne2)

2.3. CamocrTiiiHa po6oTa CTyJIeHTa Ta KOHTPOJIbHI 3aX0/I1 Y 6 cemecTpi

Kon : Kinpkicts|  Crtpox
3aBnanHs Ha CPC Ta KOHTpOJBHI 3aX011
MOZYJISA TOJIMH | IPOBEJECHHS
3M-II3| e IligroToBKa O YCHOTO OMUTYBAHHS, 14,5 1-7
MIArOTOBKAa rpaMaTUYHOI TEMHU Ta M1ArOTOBKA TYKIEHb

JIOMAITHBOT'O YNTAHHS
e [linroTOBKA 10 BUKOHAHHS MOAYJIBHOI
KOHTPOJIbHOI po6oTH Ne 3
Konmponwvni 3axoou:
e YCHE onuTyBaHHS
e [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAHOMUX CJIIB Ta iX IMepeKa sl YCHOTO
nepeKyaay TEKCTIB
o [lepeBipka MMCbMOBO BUKOHAHHHX
rpaMaTUIHUX BIIPaB
e MonynbpHa KOHTpOJbHA poboTa Ne 3
(000B’s13K0BE)

3M-I14| o IligroToBKa 10 YCHOTO OMUTYBAaHHS, 14,5 8—15
1JIFCOTOBKA rpaMaTUYHOI TEMHU Ta MiArOTOBKA THXKJIEHb
JOMAIIIHBOTO YATAHHSA

* [ligroToBKa 70 BUKOHAHHS MOYJIBHOL
KOHTPOJIBLHOT poOoTHu Ne 4

Konmponwni 3axoou:

e YCHe OnUTyBaHHS

o [lepeBipka MMCHbMOBO BUKOHAHUX CITUCKIB
HE3HAMOMHMX CITIB Ta IX MepeKIIaj A yCHOTO
nepeKyaay TEKCTIB

o [lepeBipka NMCbMOBO BUKOHAHHUX
rpaMaTUYHUX BIIPaB

e MonynbpHa KOHTpOJbHA poboTa Ne 4

(060B’s13K0BE)

[TinroToBKa /10 3aJ1iKOBOT KOHTPOJIBHOT pOOOTH 1
Konmponwvni 3axoou:
« 3amikoBa KOHTPOJIbHA poOOTa

Pazowm: 30
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1. MeTonnka npoBeJEHHS Ta OINHIOBAHHSI KOHTPOJBLHOTO 3axoay Juist 3M-113.

MiHiManbHUM 00CcAT 0a30BUX 3HAHb, III0 HEOOX1AHHH IS 3aCBOCHHS 3M —
[13:

YUTaTH, TIEpeKagaTi Ta nepekasyBatu TekcTu ‘“Pollution and its negative
effects, Great Pacific garbage patch”, “Waste accumulated in the waterways of the
Carpathians can lead to floods and deterioration of water quality, loss of river
biodiversity, What is ecology”, “Scale and complexity, Ecological niche and the
habitat”;

— mnoscantn BxuBaHHs Conditional sentences (Type I, 11, III);

— HaBYMTHCS yTBOpIoBaTH pi3HI popmu Conditionals;

— TMEpeKJIacTU TEKCT 3a (paxoM 3 aHTJIIHCHKOI Ha YKPaiHChKY MOBHU;

— TMEpeKJIaCTU CyCHUIbHO-TIOMITUYHUMA TEKCT 3 aHTJIIHCHKOT Ha YKPAaTHChKY

MOBH.

MaxkcumanbHa cyma 0aiiB 3a 000B’s13k0B1 3ax011 KOHTpouo 3 3M-II3 — 50 Ganis:

1 3apnanusa — 24 Oaja:

JuB. Tabn. 2.2

a) 4 (1+1+1+1)
1 — 4uTaHHS TEKCTY aHTI1HCHKOIO MOBOIO
| — cnucok HE3HAWOMUX CIIIB Ta 1X MepeKyal
1 — ycHuli nepekiaa TeKCTy
1 — mepekas TekcTy

b) 4 (1+1+1+1)
] — 4uTaHHS TEKCTY aHIIIHCHKOIO MOBOIO
1 — criMCcOK HE3HAMOMUX CIIIB Ta 1X MEePeKIa
1 — ycHuli nepeknan TEKCTy
1 — mepekas TekcTy

c) 4 (1+1+1+1)
| — 4uTaHHS TEKCTY aHTI1HCHKOI0 MOBOIO
1 — cnucok He3HaWOMUX CIIIB Ta iX mepeKsaa
1 — ycHuli nepekiaa TeKCTy
1 — mepekas TekcTy

d) 4(1+1+1+1)
1 — nmucemoBuii koHCcekT npaBui npo Conditional sentences (Type I, 11, I1I);
1 — nucpkMOBO BUKOHAHHI rpamatuuHi Bipasu no Conditional sentences (Type I);
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1 - mucpmMoBO BuKOHaHHI rpamatuyHi Bipasu no Conditional sentences (Type II);
1 - mucbMOBO BUKOHaHHI rpamatuyHi Brpasu mo Conditional sentences (Type III);

e) 8 (4+4)

4 (1+1+1+1) mnepeknaa Tekcty 3a Gaxom
1 — cnucok He3HaOMUX CIIIB Ta iX MepeKsaja
1 — ycHuUii iepeksaj TeKCTy
| — mMcbMOBO BUKOHaHHE Summary
1 — ycHe Summary

4 (1+1+1+1) mnepexknan cycniabHO-MOTITUYHOIO TEKCTY
1 — ciucok He3HAWOMMX CIIIB Ta 1X MEPEKIIaa
1 — ycHuli nepeknan TeKCTy

I — nMCcbMOBO BUKOHAHHE Summary
1 — ycHe Summary

1 3aBnanHs (24 6ana) He € 00OB’SI3KOBHUM.

2 3aBnanas— 50 OauiB:

Buxonanas MKP Ne 3

MopaynpHa KOHTpOJbHA poboTa ckiagaeTses 3 30 3aBaanb. Koxue 3aBganus 1,67
OaiB. MojylibHa KOHTPOJbHA POOOTA BBAXKAETHCS 3apaxOBaHOIO, SIKIO HAaJaHO
MIHIMYM |8 mpaBUIBHUX BIANIOBIACH.

Sxmo 3axoam OOOB’SI3KOBUX ()OPM KOHTPOJIIO BHUKOHYIOTHCS CTYACHTOM
MiCJisl CTPOKIB, BU3HAUYCHHUX Y MPOTpaMi HaBYAIBHOT AUCIUIUIIHHU, KUTBKICTD OaiB,
0 MOXK€ OTpUMaTH CTYACHT, HE MOxke mnepeBuiryBatd 60% Biag MakCUMallbHO
MOXKJIMBOT JUTS 11i€T (HOPMU KOHTPOJTIO.

Ominka 3a okpemi (abo yci) MOAYJl 3HUKYEThCS y pa3i MPOIYCKIB 3aHAITh
CTYJIGHTOM. 3a KOKHE TPOIyIIeHe 3aHATTS 3HUKYyeThbes 0,5 Oana, ane miHiMaabHa

OITiHKA TICJIS 3HM)KCHHS HEe MOKe OyTu Hrk4a 60% BiJ MAaKCUMAJIbHO MOYKJIUBOI.

2 3aBaadHAg (50 0amiB) € 000B’ I3KOBUM.

2. Metoarka npoOBEJECHHS Ta OIIHIBAHHSI KOHTPOJBLHOTO 3axoay Juist 3M-114.
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MiHimMaabHUHE 00csAT 0a30BUX 3HAHb, 1110 HEOOX1AHUM 1151 3acBOEHHS 3M —
[14:
- YUTaTH, epeKIiaaTu Ta nepekasypatu TeMu “Ecosystem services and the
biodiversity crisis”, “Trophic dynamics”, “Resilience of great barrier reef
offers opportunities for regeneration”;
— TMOSICHUTH B)KMBaHHA the non-verbal forms of the verb;
— HaBuuTHCS yTBOproBaTH the non-verbal forms of the verb;

— HaBYMUTHCS BIAPI3HATH MK c00010 the non-verbal forms of the verb;

— TMEepeKJIaCTH TEKCT 3a (axoM 3 aHTJIHChKOI Ha YKPaiHChKY MOBH;

— TMEepeKIaCTH CYCHIIbHO-TIOMITUYHHUMN TEKCT 3 aHTJIIHCHKOT Ha YKPAaTHChKY
MOBH.

MakcumanbHa cyMa 6amiB 3a 000B’13K0B1 3ax0au KOHTpo:tio 3 3M-I14— 50 Gais:

1 3aBnanusa — 24 OajiB:

JuB. Tabmn. 2.2

a) 4 (1+1+1+1)
| — 4uTaHHS TEKCTY aHTI1HCHKOIO MOBOIO
1 — ciucok HEe3HAMOMUX CIIIB Ta 1X MepeKa
1 — ycHuli nepekiia TeKCTy
1 — mepekas TekcTy

b) 4 (1+1+1+1)
| — YMTaHHS TEKCTY aHIJIIHCHKOIO MOBOIO
1 — cMcok He3HAOMUX CIIIB Ta 1X HNepeKIa
| — ycHuli nepeknan TEKCTy
1 — mepekas TekcTy

c) 4 (1+1+1+1)
| — 4uTaHHS TEKCTY aHITIICHKOIO MOBOIO
1 — cnucok He3HAWOMUX CIIIB Ta iX MepeKial
1 — ycHuili nepekian TEKCTy
1 — nmepekas Tekcty

d 4 (A+1+1+1)
| — nucbMOBUI KOHCTIEKT mpaBud 1o the non-verbal forms of the verb;
| — mMcbMOBO BUKOHAHHI rpaMaTtuyHi Brpasu 1o the Infinitive;
| - nucekMOBO BUKOHAHHI rpamMaTHyHi Bpasu 1o the Paticiple;
1 - nucpkMOBO BMKOHAHHI rpaMaThyHi Bapasu no the Gerund;

31



e) 8 (4+4)

4 (1+1+1+1)nepeknan Tekcry 3a paxom
| — cnucok He3HaWOMUX CIIIB Ta iX MepeKyaa
1 — ycHuli nepekiaa TEKCTy
] — mucbMOBO BUKOHaHHE Summary
1 — ycHe Summary

4 (1+1+1+1) mnepexnan CycHniabHO-MOTITUIHOTO TEKCTY
1 — cucok He3HAOMUX CIIIB Ta 1X HMEepeKIal
1 — ycHul nepexnan TeKCTy

| — nMcbMOBO BUKOHAHHE Summary
I — ycHe Summary

1 3aBnanns (24 6amiB) He € 000B’SI3KOBHM.

2 3aBnanas— 50 OauiB:

Buxkonanas MKP Ne 4

MoaynpHa KOHTpOJbHA poboTa ckiagaeTses 3 30 3aBaanb. Koxue 3aBaanus 1,67
OanmiB. MoayJibHa KOHTpPOJIbHA POOOTAa BBAXKAETHCSA 3apPAXOBAHOIO, AKIIO HAJAHO
MIHIMYM |8 mpaBUIbHUX BIANOBIACH.

Ao 3axoau 000B’A3KOBUX (POPM KOHTPOJIIO BHKOHYIOTHCS CTYAEHTOM
HiCHsl CTPOKIB, BU3HAYEHHUX Y IPOrpaMi HaBYAJIbHOI IUCHUIUIIHHU, KIJIBKICTh OaliB,
10 MOXXE€ OTpUMAaTH CTYAEHT, HE MOXe nepeBuiyBaTd 60% Big MakCHMalbHO
MOXKJIMBOT JUIS 11i€T (HOPMU KOHTPOJTIO.

Ominka 3a okpemi (abo yci) MOAYJ 3HUKYETbCS y pa3i MPOIYCKIB 3aHATh
CTYJIEHTOM. 3a KOKHE TIPOIyIIeHE 3aHATTS 3HUKyeTbes 0,5 6ana, ane MiHiMaabHa

OITIHKA ITICJIS 3HIKEHHS HEe MOoKe OyTH Huxk4a 60% BiJ MaKCUMAaJIbHO MOYKJIUBOI.

2 3aBaadHAg (50 0amiB) € 000B’ I3KOBUM.

4. MeToauka IpoBEeACHHS Ta OHiHIOBaHHH CEMCECTPOBOI'0 KOHTPOJIBHOI'O 3aX04Y.
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3ajikoBa ceMecTpoBa KOHTpoOJibHA poOoTa ckianaerbes 3 20 3aBmaHb. Koxne
3aBAaHHA 5 OaiiB. 3aJiKoBa KOHTPOJIbHA poOOTa BBAXKAETHCS 3aPaXOBAHOIO, SKIIIO
HaJaHo MiHIMYM 10 npaBWIBHUX B1ANOBIJIEH.

KoHTponb MOTOYHNX 3HAHb BUKOHYETHCS Ha 0a31 HAKOMWYIYBaIbHOI CHCTEMHU
oprasi3aliii HaB4aHHs.

®daktnyHa cyma OamiB, SIKy OTPUMY€E CTYJIEHT 3a IE€BHHM 3MICTOBHUMN
MOJYJIb, MAa€ CKJIAJIaTUCA 13 pe3yJIbTaTiB BUKOHAHHS 3aXOJliB 3 KOHTPOJIO, IO
3aljlaHOBaHl 3a LHUM 3MICTOBHUM MOJyJE€M, Ta YpaxOoBYBaTH CBO€YACHICTh
(HampuKiIaa: CTYAEHT, SKUA TPOIYCTHUB KOHTPOJBHUN 3axiJ 0e3 MOBaKHUX
npuduH a00 OTPUMMAaB HE3aJIOBUIBHY OIIIHKY, Ma€ MpaBO y TIKHEBHN TEpMiH
BUKOHATH 3aBJIaHHS [IHOTO 3aX0/y 3 MAKCUMAJIBHOIO CYMOIO 0ajliB, €KBIBaJIGHTHOIO
OLIHII He OulblIiid HDK "3a40BUIBHO")  BUKOHAHHSA CTYAEHTOM TIpadiky
HABYAJILHOTO MPOIIECY.

Cymu OaniB, sIKI OTpUMaB CTYJEHT 3a BCIMa 3MICTOBHUMHU MOJYJISIMA HaB-
YaJlbHOI JUCHUIUIIHK, (QOPMYIOTH KUIBKICHY OIIHKY (0ajn ycCHimHOCTI) 3a
MiCYMKaMH TOTOYHUX KOHTPOJIOIOUMX 3aXOIB CTyJeHTa 3 HaBYAJIbHOI
TUCHMIUTIHU. Pe3yiapTaTh MOTOYHOTO KOHTPOJIO 3aHOCATHCSA IO IHTErpaibHOI
BifloMocTi. PilmeHHs mpo JOMycK CTyJeHTa A0 TMiJCYMKOBOTO CEMECTPOBOIO
KOHTPOJIIO 3 KOHKPETHOI HaBYAJIbHOI JUCHUIUIIH periiaMeHTyeThest [lonoxeHHs M
PO MPOBEACHHS M1ICYMKOBOT'O KOHTPOJIIO 3HAaHb CTY/CHTIB.

CTyZeHT BBaXA€ThCS JAOMYIIEHUM [0 MiJCYMKOBOIO CEMECTPOBOIO
KOHTPOJTIO, SIKIIIO BiH BUKOHAB BC1 BUIM POOIT, iepeadaueHi poO0v0r0 HaBYAILHOIO
IPOrpaMor0 TUCIMILIIHM 1 HAOpaB 32 MOJYJILHOIO CUCTEMOIO cyMy 0alliB HE MEHIIIe
50 (50%) Bim MakcuMadbHO MOXIJIMBOI (000B’si3koBa yacTuHa 90 OamiB) 3a
NPAaKTHYHY YaCTHHY.

[1i1cyMKOBUM KOHTPOJIEM 3HaHb CTYJICHTIB € 3aJIiK.

CryaeHT oTpuUMYy€ 3ajiK, KOJM BIH Ma€ Ha OCTaHHIA JI€Hb CEMECTpY
IHTErpajgbHy CyMmy OajiB MOTOYHOIO KOHTPOIIO, JocTaTtHiO (60% Ta Olnblue) s
OTpUMaHHS MO3UTUBHOI OL[IHKU Ta He MeHIIe S0% Bix MAaKCHMAJIbHO MOKJIHBOI
cyMHu 0aJjiiB Ha 3aJ1iKOBiil KOHTPOJILHII po0OTIi.

[aTerpanpHa ominka (B) mo quciuriizi po3paxoByeThes 3a HOPMYIIOI0

B =0,75x 03+ 0,25 x O3KP,

ne O3 — kinbkicHa oIiHKa (y BIJCOTKAX BIJ MaKCUMaJlbHO MOKJIMBOi) 3a
3MICTOBHUMU MOAYJISIMHU;
O3KP - xinbkicHa omiHKa (y BIJICOTKax BIiJ] MaKCHUMaJIbHO MOKJIUBOI)

3aJ1IKOBOi KOHTPOJIBHOI POOOTH.

3. PEKOMEHJIAIII 1O CAMOCTIMHOI POBOTH CTY/IEHTIB
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3.1 Mooyne 3M-II3  “Pollution and its negative effects, Great Pacific

garbage patch”, “Waste accumulated in the waterways of the Carpathians can
lead to floods and deterioration of water quality, loss of river biodiversity, What is
ecology”, “Scale and complexity, Ecological niche and the habitat”, Conditional
sentences (Typel, 11, I1I).

Jlitepatypa: [1,c. 37 -42,¢. 59 - 62], [2, c. 126- 143]

AW = AN W N —

AWM —

3.1.1. [loBuanusa

a) “‘ Pollution and its negative effects, Great Pacific garbage patch ™.

. [IpounTaT TEKCT aHTIIICHKOIO MOBOIO.

. BunicaTu 3 TeKcTy HOBI cllIoBa Ta 3p0OUTH iX NEpEKIal.

. YCHO mepeKIacTi TEKCT 3 aHTJIIACHhKOI Ha YKPaiHChbKY MOBY.
. Ilepexasatu Tekcr.

b) “ Waste accumulated in the waterways of the Carpathians can lead to floods
and deterioration of water quality, loss of river biodiversity, What is ecology .

. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.

. BunrcaTu 3 TeKkcTy HOBI clloBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO MepeKIacTi TEKCT 3 aHIJIIHCHKOI Ha YKPaiHCbKY MOBY.
. [lepekazatu TeKCT.

c) ““ Scale and complexity, Ecological niche and the habitat .

. [IpounTaTé TEKCT aHTIIICHKOIO MOBOIO.

. BunrcaTu 3 TeKcTy HOBI clloBa Ta 3p0OUTH X TIEpEKIIal.

. YCHO TmepeKIIacTi TEKCT 3 aHTUIMChKOI Ha YKPATHChKY MOBY.
. [lepekasaTu TeKcCT.

d) Grammar:
Conditionals

1. 3pobutu koHCHEeKT npaBui BxuBaHHs Conditionals
2. Bukonatu TpeHyBaibH1 rpamatuuHi Bupasu Conditional sentences (Type I).

3. Bukonaru TpenyBasibHi TpamaTudHi BripaBu Conditional sentences (Type 11).
4. BukoHaTtu TpeHyBajbHI rpamatuuHi Bupasu Conditional sentences (Type I11).
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¢) JlomaliHe yuTaHHSA
1. mepexyiaa TEKCTy 3a paxom:

1. CaMoCTIiiHO BUOpATH TEKCT HAYKOBOI CTATT1 3 HAYKOBOTO KypHAITy 3a (paxoMm Ha
anrmicekiit MoBi ( 10 000 np.3HAKIB)

2. BunucaTu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH X MepeKa.

3. YCHO nepekiacTu TEKCT 3 aHTJIINCHKOT Ha YKPaiHChKY MOBY.

2. mepekJiaj] CyCrniIbHO-TIONITUYHOTO TEKCTY:

. CamocTiiiHO BHOpaTu TEKCT 3 aHrIoMoBHOI razetd (5 000 ap.3HaKiB)
. Buniucartu 3 TekcTy HOBI cliOBa Ta 3pOOUTH X MEpeKia.

. YCHO NepeKIacTi TEKCT 3 aHIJIIHCHKOI Ha YKPaiHCbKY MOBY.

. [IucemoBe Summary.

. YcHe Summary

DA W =

3.1.2. Ilutanus 17151 caMoIepeBipKU

1. Give a definition of environmental pollution.

2.Is humanity able to remedy existing pollution?

3.What is the size of the Great Pacific garbage patch?

4.1s plastic entering the food chain dangerous for marine ecosystem?
5.Can waste accumulated in the waterway of a river lead to floods? Why?
6.What language does the word “ecology” come from?

7.What is biodiversity?

8.What does biodiversity describe?

9.1Is there any difference between the fundamental and the realized niches?
10.What organisms are called “ecosystem engineers”?

3.2. Mooynw 3M-II4  “Ecosystem services and the biodiversity crisis”,
“Trophic dynamics”, “Resilience of great barrier reef offers opportunities for
regeneration”, the non-verbal forms of the verb.

Jlitepatypa: [1,c. 79 - 84], [2, c. 172 - 264]
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3.2.1. IloBuanus

a) “Ecosystem services and the biodiversity crisis”.

1. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.
2. BunucaTu 3 TEKCTy HOBI CJIOBA Ta 3pOOUTH X MepeKa.
3. YCHO mnepekacTi TEKCT 3 aHTIIHCHKOT Ha YKPaiHChKY MOBY.

b) “Trophic dynamics”.

1. [IpounTaTé TEKCT aHTIIIMCHKOIO MOBOIO.
2. Bunucatu 3 TEKCTY HOBI CJI0Ba Ta 3pOOUTH 1X TEPEKIAI.
3. YCHO nepeKs1acT TEKCT 3 aHIJIHCHKOI Ha YKPaiHChbKY MOBY.

¢) “Resilience of great barrier reef offers opportunities for regeneration”.

1. [IpounTaTé TEKCT aHTIIIICHKOIO MOBOIO.
2. BunucaTu 3 TEKCTY HOBI CJIOBA Ta 3pOOUTH X MepeKia.
3. YcHo mepekiacTu TeKCT 3 aHTJIHCHKOI Ha YKPaiHChKY MOBY.

d) Grammar:

The non-verbal forms of the verb.

1. 3poOuTH KOHCIIEKT MpaBuJl YTBOPEHHs Ta BxkuBaHHA the non-verbal forms of the
verb.

2. BukoHnaTu TpeHyBabHI I'pamMaTU4H1 Bpasu 1o the Infinitive.

3. BukoHnatu TpeHyBasIbHI TpamMaTU4H1 BripaBu 1o the Paticiple.

4. BukoHaTu TpeHyBajbHI rpaMaTuyHi Brpasu 1o the Gerund.

e) JloMailiHe yuTaHHs
1. mepexnazg TeKCTy 3a paxom:
1. CamocTiitHO BHOpaTH TEKCT HAYKOBOI CTATTi 3 HAYKOBOTO JKypHAITY 3a (haxom Ha
anrmicekiit MoBi (5 000 np.3HaKIB)

2. Bumnucatu 3 TEKCTy HOBI CJIOBa Ta 3pOOUTH 1X TIEPEKIIaI.
3. YCcHO nepeKs1acT TEKCT 3 aHTJIHCHKOI Ha YKPaiHChbKY MOBY.
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2. nepekyiaj] CyCrnuIbHO-IIOJITUYHOTO TEKCTY:

1. CamocTiiiHO BUOpaTH TEKCT 3 aHrJIoMOBHOI razetu (5 000 ap.3HaKiB)
2. Bunucatu 3 TEKCTY HOBI CJIOBa Ta 3pOOUTH 1X TIEPEKIIaI.

3. YCHO nepekIacTu TEKCT 3 aHTIINCHKOT Ha YKPaiHChKY MOBY.

4. IluckMoBe Summary.

5. Ycue Summary

3.2.2. [lutaHHs 17151 caMOTIePEBIPKU

1. Has human civilization ehceeded the bio-regenerative capacity of the planet ?
What does it mean ?

Can biodiversity be organized into different dimensions ?

Give a definition of trophism among species.

What species are called “keystone species™?

Are there opportunities for saving the ecosystem of the Great Barrier Reef?

Nk W

4. IMTAHHA 10 3AXOA1IB ITIOTOYHOI'O, NIIJICYMKOBOI'O
TA CEMECTPOBOI'O KOHTPOJIIO

4.1. I'pamaTuyHi 3aBIaHHS 10 MOIYJIBHOI KOHTPOJIBHOI po0oTH Moyt 3M-I13.

Module control work Ne 3

Put the infinitives into the right form:

1. If you (to hurry) yesterday, we would have managed to do all the arrangements.
[3,c. 123 —137]

2. They would have done the task if they (to lose) their best soldier. [3, c. 123 —
137]

3. If you (to do) nothing, you will stay without this job. [3, c. 123 — 137]

4. If we (to wait) for him that night, we would have never learnt the truth. [3, c.
123 —137]
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5. I will show you the place, if you (to give) me the ride. [3, ¢. 123 — 137]

6. If the weather were fine, they (to go) out of town. [3, c. 123 — 137]

7. If Tom had enough money, he (to go) to the USA long ago. [3, c. 123 — 137]

8. If I (to know) their language, I could understand what they were saying. [3, c.
123 - 137]

9. We (to win) the cup If we keep playing well. [3, c. 123 — 137]

10. If you touch a socket with wet hands, you (to get) an electric shock. [3, ¢. 123 —
137]

11. If I (to have) noticed Nick, I would have stopped him. [3, c. 123 — 137]

12. "Listen to me, Mary! The officer says I cannot go abroad now! I wish I (to pay)
the parking fine! I'm so sorry!" [3, c. 123 — 137]

13. If I (to be) you, I would apologize to her. [3, c. 123 — 137]

14. If you live in Australia, January (to be) in the middle of summer. [3, c. 123 —
137]

15. If Jane (to take) this medicine yesterday, she would feel better now. [3, c. 123 —
137]

16. If you hadn’t helped me, I (to be) in real trouble. [3, ¢. 123 — 137]

17. He would have died if they (to take) him to hospital in time. [3, c. 123 — 137]
18. He would have helped you if you (to request) more politely. [3, c. 123 — 137]

19. If we (can) afford it, we’ll buy a new car. [3, c. 123 — 137]

20. If he (to eat) all that he’ll be ill. [3, c. 123 — 137]
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21. The place was very dull. Even if it (not to be raining) the whole week, we (not
enjoy) our holiday. [3, c. 123 — 137]

22. If you (not to interfere), they (to forget) all about it in an hour. [3, ¢. 123 — 137]
23. If you (to trust) me, I (can lead) you safely through. [3, ¢. 123 — 137]

24. The dinner (not to be spoiled) if you (not forget) the dish in the oven. [3, c. 123
—137]

25. She (to know) how to behave if she (to be) a born lady. [3, c. 123 — 137]
26. He (not to take) this case even if he (to be asked). [3, ¢. 123 — 137]

27. The accident (not to happen) if you (to be) more attentive. [3, c. 123 — 137]
28. She (to go) there even if she (to have) to walk all the way. [3, c. 123 — 137]
29. None (to mind) if he (be dismissed). [3, c. 123 — 137]

30. Someone (may notice) if she (open) the letter. [3, c. 123 — 137]

31. “Are you still thinking of going on that cruise?” - “It (may be) enjoyable,” he
said, “if one (to have) just the right person to go with.” [3, c. 123 — 137]

32. It (to be) fun if Roberta (to write) a book. [3, c. 123 — 137]

33. I never tried to understand my brother. If I (to try) I (may stop) him from going
away. [3, c. 123 — 137]

34. If I (to be) you, Meg, I (not to let) myself believe this hateful gossip. [3, c. 123
—137]

35. I (to hate) myself if I (to deceive) him. [3, c. 123 — 137]

36. He said he had no pain, and if it (not to be) for the doctor, he (to get up) and (to
go) home. [3, c. 123 — 137]

37. She (can go) to Cambridge if she (to want). She had been offered a scholarship.
[3,c. 123 —137]

38. You (to be) horrified if I (to tell) you what I have had to go through. 39. I'm
glad I wasn’t at home. He (not to get) much help if he (to ask) me. [3, ¢. 123 — 137]

40. The house looked awful. If I (to be) given to crying I (may cry). [3, c. 123 —
137]
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41. “No, I won’t tell you,” she said. “It (not to be) fair to them if it just (to turn) out
to be gossip.” [3, c. 123 — 137]

42. It (may be) fatal if she (to learn) the truth. [3, ¢. 123 — 137]

43. “May I read this?” - “I (not to bother) if I (to be) you.” [3, c. 123 — 137]

44. If I (to keep) to my original plan I (to miss) the whole affair. [3, c. 123 — 137]
45. Alice thought it (may be) nice if you (can join) us. [3, c. 123 — 137]

46. It (to look) silly if I (to tell) them the truth. [3, c. 123 — 137]

47.If I (to be) you, I (to try) to rise above it. [3, c. 123 — 137]

48. If I (to be) there, of course, I (to do) something. [3, c. 123 — 137]

49. If it (not to be) for the children I (to leave) you tomorrow. [3, c. 123 — 137]

50. If I (to be) a hainter, I (to choose) an entirely different scenery. [3, c. 123 —
137]

51. If I (to realise) it was to be like this, I (not to come). [3, ¢. 123 — 137]

52. If he (not to tell) us that himself I never (to believe) that. [3, c. 123 — 137]

53. He (to agree) never with you, even if he (be) wrong. [3, ¢. 123 — 137]

54. 1 (to be) grateful if you (to keep) the news to yourself. [3, c. 123 — 137]

55. If anyone (to ask) me what his specific gift was, I (not to know) howto answer.
[3,c. 123 - 137]

56. She said she (to be) pleased if my mother (to allow) me to spend a month with

them. [3, c. 123 — 137]

57. Mary is staying with them. I think it (to be) a good thing if you (to come) and
(to see) her. [3, c. 123 — 137]

58. If we ever (to happen) to meet again I (to act) as if this letter never (to write).
[3,c. 123 —137]

59. If it (to be) all the same to me, I (not to come) and (to talk) with you. [3, c. 123
—137]
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60. If there (to be) some more of us, it (to take) only a few days to get through with
it. [3, c. 123 - 137]

4.2. I'pamaTryH1 3aBJaHHS 10 MOYJIBHOI KOHTPOJIbHOI poboTu Moy 3M-114.

Module control work Ne 4
Put the Infinitive, the Participle and the Gerund into the right form:

1. He is great, he managed (to find) a solution. [3, ¢. 273 — 345]
2. His language skills seem (to improve) . [3, ¢. 273 — 345]

3. She hates (to get up) early in the morning and do it five times a week. [3, c. 273
— 345]

4. They agreed (to meet) his friends at the café tomorrow evening. [3, c. 273 —
345]

5. Ican’t stand (to live) in the countryside but I would like to do it best of all. [3,
c. 273 —345]

6. What are you going to do after (to finish) the university? [3, c. 273 — 345]

7. Mike warned his sister not (to come) back late. [3, c. 273 — 345]

8. We usually learn (to read) at school. [3, ¢. 273 — 345]

9. Ann didn’t know what (to answer) . [3, ¢. 273 — 345]

10. George practices (to swim) twice a week. [3, ¢. 273 — 345]

11. (To hear) the sounds of music, they stopped talking. [3, c. 273 — 345]

12. This is a church (to build) many years ago. [3, c. 273 — 345]

13. While (to examine), the boy could not help crying [3, c. 273 — 345]

14. Where is the boy (to throw) the stone? [3, ¢. 273 — 345]

15. (To prescribe) the medicine, the doctor went away. [3, ¢. 273 — 345]

16. (To show) the wrong direction, the travelers soon lost their way. [3, c. 273 —
345]

17. Time (to permit), we will go for a walk. [3, c. 273 — 345]

18. The treaty (to sign), trade was at once resumed. [3, c. 273 — 345]

19. The day (to be) finer and a little warmer than the previous one, he went out
again. [3, c. 273 — 345]

20. (Not to understand) the rule, he made many mistakes. [3, ¢. 273 — 345]

21. I hope (to see) you soon. [3, c. 273 — 345]

22. We expect (to be) back in two days. [3, ¢. 273 — 345]

23. He expected (to help) by his friends. [3, c. 273 — 345]

24. 1 am glad (to do) all the homework yesterday. [3, ¢. 273 — 345]

25. I am sorry (to break) my pen. [3, c. 273 — 345]
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26. I hate (to bother) you, but the students are still waiting (to give) books for their
work. [3, c. 273 — 345]

27. He seized every opportunity (to appear) in public: he was so anxious (to talk)
about... [3, c. 273 — 345]

28. Is there anything else (to tell) her? I believe she deserves (to know) the state of
her sick brother. [3, c. 273 — 345]

29. He began writing books not because he wanted (to earn) a living. [3, c. 273 —
345]

30. The woman pretended (to read) and (not to hear) the bell. [3, c. 273 — 345]

31. Perhaps it would upset her (to tell) the truth of the matter. [3, c. 273 — 345]

32. The only sound (to hear) was the snoring of grandfather in the bedroom. [3, c.
273 — 345]

33. He made me (to do) it all over again. [3, c. 273 — 345]

34. He made her (to repeat) the message|[3, c. 273 — 345]. [3, c. 273 — 345]

35. Would you like my (to go) now? [3, c. 273 — 345]

36. They won’t let us (to leave) the Customs till our luggage has been examined.
[3,c. 273 —345]

37. He wouldn’t let my baby (to play) with his gold watch. [3, c. 273 — 345]

38. Please let me (to know) your decision as soon as possible. [3, ¢. 273 — 345]

39. He made us (to wait) for hours. [3, c. 273 — 345]

40. I let him (to go) early as he wanted to meet his wife. [3, ¢. 273 — 345]

41. I’d like him (to go) to a university but I can’t make him (to go). [3, c. 273 —
345]

42. He tried to make me (to believe) that he was my stepbrother. [3, c. 273 — 345]
43. Before he let us (to go) he made us (to promise) not to tell anybody what we
had seen. [3, c. 273 — 345]

44. T advised him (to ask) the bus-conductor to tell him where to get off. [3, ¢. 273
— 345]

45. That 1s too heavy for one person (to carry); let me (to help) you. [3, c. 273 —
345]

46. The teacher advised us (to use) dictionaries. [3, ¢. 273 — 345]

47. Her father doesn’t allow her (to go) to the cinema alone. 16. Who told the nurse
(to give) the sick man this medicine? [3, ¢. 273 — 345]

48. The old man doesn’t like his grandchildren (to make) a lot of noise when they
are playing. [3, c. 273 — 345]

49. The gardener won’t let the children (to pick) the flowers. [3, c. 273 — 345]

50. The friends went out into the city (to leave) their cases at the left-luggage
department. [3, c. 273 — 345]

51. (to leave) a note with the porter, he said he would be back in a half an hour. [3,
c. 273 — 345]

52. (to write) in an archaic language, the book was difficult to read. [3, c. 273 —
345]

53. (to write) his first book, he used his own experiences. [3, c. 273 — 345]

54. (to be) away so long he was happy to be coming back. [3, c. 273 — 345]

55. On (to introduce) they easily fell to (to talk). [3, ¢. 273 — 345]
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56. Why do you avoid (to see) me? He tried to avoid (to see). [3, c. 273 — 345]

57. We insist on (to send) him there at once. He insists on (to send) there instead of
me. [3, c. 273 — 345]

57. Do you mind (to examine) the first? [3, ¢. 273 — 345]

58. He showed no sign of (to know) them. She showed no sign of (to impress). [3,
c. 273 — 345]

59. I was annoyed at (to interrupt) every other moment. 8. In (to discuss) the
problem they touched upon some very interesting items. [3, c. 273 — 345]

60. The equipment must go through a number of tests before (to install). [3, c. 273
— 345]

4.3. TecToBi 3aBJIaHHA JI0 3TIKOBOT KOHTPOJILHOT pOOOTH.

Credit test

6 term
Put the infinitive in the right form:

1. You must (to do) it at once. [3, c. 273 — 345]

2. The man told me not (to walk) on the grass. [3, c. 273 — 345]

3. He is interested in (to collect) stamps. [3, c. 273 — 345]

4. Seeing is (to believe). [3, c. 273 — 345]

5. The vegetables (to buy) were fresh. [3, c. 273 — 345]

6. The girl (to sit) on the sofa is my sister. [3, ¢. 273 — 345]

7. You’d better (to follow) my advice. [3, c. 273 — 345]

8. The work (to do) is not difficult. [3, c. 273 — 345]

. My hobby was (to swim) but nobody approved it. [3, c. 273 — 345]

10. The book (to read) by me was interesting. [3, c. 273 — 345]

11. Ilike (to invite) friends to my house. [3, c. 273 — 345]

12. The mother got angry (to see) such a great disorder. [3, c. 273 — 345]
13. I have no objections (to ask) about it. [3, c. 273 — 345]

14. (to travel) is a very pleasant thing. [3, c. 273 — 345]

15. Idon’tlike the idea of (to walk) in the rain. [3, ¢. 273 — 345]

16. After (to leave) her umbrella in the hall, she entered the living-room. [3, ¢. 273
— 345]

Ne)
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17. What do you mean by (to come) to the lesson without (to read) the story? [3,
c. 273 — 345]

18. On every floor of the hotel there are rooms for (to wash) [3, c. 273 — 345]

19. He felt better for (to write) the letter. [3, c. 273 — 345]

20. She enjoyed (to give) parties. [3, c. 273 — 345]

21. More participents (attend) these scientific lectures if they had longer notice
of them. [3, c. 123 — 137]

22. If he (not know) the meaning of the words he may use a dictionary. [3, ¢. 123 —
137]

23. You can use my phone if yours (not work). [3, ¢. 123 — 137]

24. T wish I (can) give up smoking. [3, c. 123 — 137]

25. It's a pity he never patented his invention. If he (patent) it he (make) a lot of
money. [3, c. 123 — 137]

26. If I (to stay) some more days in your town, I (to call) on you and we (to have)
a good talk. [3, c. 123 — 137]

27. I wish I (not try) to repair my computer. I only made it worse. [3, c. 123 — 137]
28. He wishes he (know) something about this research. [3, c. 123 — 137]

29. If I (have) a university degree I now (sit) in a comfortable office instead of
standing at a street comer selling newspaper. [3, c. 123 — 137]

30. I wish I (to consult) the teacher when I first felt that English was too difficult for
me. [3, c. 123 — 137]

31. I wish you (to go) skiing with me yesterday: I had such a good time. [3, ¢. 123
—137]

32. We (go) for a walk, if the weather (to be) good tomorrow. [3, c. 123 — 137]

33. (to write) the master work long ago if you (not to disturb) me. [3, c. 123 — 137]
34. Our guests wishe they (to stay) at their plaace last summer. [3, ¢. 123 — 137]

35. If you (not to put) the cup on the edge of the table, it (not to brake). [3, c. 123 —
137]

36. What we (to do) if it (to rain) tonight? [3, ¢. 123 — 137]

37. If she (not to help) me, I (to be) in a very difficult situation. [3, ¢. 123 — 137]
38. If'it (to be) very cold tonight, our car (not to start) in the morning. [3, c. 123 —
137]

39. The students (to understand) the task if they (not to miss) the professor’s
explanation. [3, ¢. 123 — 137]

40. I (to say) what I said if I had known earlier what her reaction was going to be.
[3,c. 123 —137]
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